{NsBt} 10-MODE.1:BORDER:1:INK-8,1:INK-1,26:INK:
2,24:INK:3,6

{NrAp} 20 SPEED-KEY-15,2

{IvAt} 30-ENV-1,1,18,0,11,0,10

{GpAr} 40-ENT:1,18,2,2

{MxAs} 50-ENV.3,1,0,16,5,-3,2

{ApB1} 60-ENV.2,5,3,3,1,-21,22,9,-3,2
{AoBn} 70-ENT--2,16,2,2,5,-7,1,2,11,3,2,-4,8
{PuBq} 88:MOVE.30,32:DRANR 0,400,1:MOVE . 618,32:

DRAWR -0 ,460, 1

{OnBk} 90.PEN:3:LOCATE:3,1:PRINT:STRING$(36,143
)

{KvBj} 100:PEN.2:LOCATE 3,2:PRINT:STRING$(36, 14
3)

{0uCi} 110-PEN:1:FOR:r=5:T0:6:LOCATE:3,r:PRINT:
STRING$(36,143) :NEXT r

{GsAl} 120:bhx=9

{Elfr} 130:1lives=S:scorezf

{GuBk} 140.PEN:1:GOSUB-470:CLEAR INPUT

{PkBr} 150:IF INKEY$<{>CHR$(32) AND JOY(B){16:TH
EN.158

{JuBv} 168:LOCATE 11,23 :PRINT SPACE$(28):LOCATE
+1,24:PRINT SPACE$(408) ;

{OvBi} 178.GOSUB-480:GOSUB 450:GOTO 198

{KvBo} 180 LOCATE bhx,24:PRINT"..";STRING$(4,131
;" " :RETURN

{IjBn} 198.xa=1:ya=z1:IF INT(RND%*2)=1+ THEN:xaz=-
Xa

{AJAs} 200 -PEN.1:GOSUB-186

{Bk#o} 216-0RIGIN-8,4060

{NvAiu} 220 x=hx+4:y=11:x1=x:yl=y

{NgAr} 238-xl-x+xaiyl-ytya

{MkAw} 240 IF x1=3:0R-x1=38 THEN:xa=-xa

{PgAn} 250.GOSUB. 390

{AtEo} 260 IF yl=24 AND:x1>hx+1 AND:x1<{hx+6:THE
N:ya=-ya:yl-yl-
2150UND-130,44,8,7,1,1:a=C(x>hx+5)OR(x<{hx+2
)):IF:az-1 THEN xa=xa*a:x1=x1txa:ylzyl+l

{NkBq} 270 IF.yl=25:THEN:LOCATE x,y:PRINT" " :G0
10:370

{PtAm} 280.GOSUB.188

{MtAw} 290 £-TEST((16%x1)-1,-(16%yl)-1)

{IiCw} 300 .IF £{>8 THEN:yaz=-
yaixz=xl:yzzyl:yl-yl+ya:GOSUB-420:IF - t=2:TH



EN:score=score+10:GOSUB 450

{BvBp} 310:IF t=3.THEN:scorezscore+20:G0OSUB-450

{GiBm} 320-IF t=1:THEN:score=zscore+5:G0OSUB 450

{DnAt} 330 IF-yi=1.THEN ya=1

{CvBuw} 340 .LOCATE:x,y:PRINT-"-":LOCATE x1,yl:PR
INT - CHR$(233) :x=x1:y=yl

{GgBr} 358:IF y=1:0R:x=3:0R x=38:THEN SOUND:129
,18,8,7,1,1

{MnAn} 368:GOTO 230

{MoC1} 378:liveszlives-
1:50UND-132,19,46,12,2,2:IF lives=0:THEN GO
10:438

{NtAs} 388 GOSUB 458:G0T0 190

{OvBx} 390.IF  (INKEY(8)=0 0R  INKEY(74)=8):AND:h
X2+ THEN bx=hx-2:RETURN::: ..

{LkBu} 408:IF  (INKEY(1)=0:0R INKEY(75)=0):AND Db
X{32+THEN hx=hx+2 :RETURN

{KJjAn} 410 -RETURN

{KpBi} 420 LOCATE xz,yz:PRINT-".":RETURN

{IwBj} 430 IF score)zhiscore THEN:-hiscore=score

{AlBj} 440.GOSUB 458:5core=0:1ives=5:G0T0 80

{EqCo} 450:50UND:130,0,20,13,3,0,31:LOCATE-1,25
' PRINT - TAB(4)"HISCORE" ; hiscore;

{04gC1} 460 -LOCATE-18,25:PRINT"SCORE" ;score:LOCA
TE:38,25:PRINT"LIVES"; lives:RETURN

{FjBq} 478:LOCATE:11,23:PRINT"PRESS : SPACE-T0 5T
ART" :RETURN

{FkBmn} 480 :LOCATE 1,25:PRINT SPACE$(48); :RETURN



